

GENESEE COUNTY ROAD COMMISSION

Serving the motorists of Genesee County for more than 100 years

211 W. Oakley Street Flint, MI 48503-3995 Website: www.gcrc.org

Board meetings: first and third Tuesdays at 10:00 A.M.

Phone: (810) 767-4920 Toll Free: (800) 249-4027 Fax: (810) 767-5373 – Administration

Fax: (810) 767-3634 - Maintenance

DATE:

June 5, 2023

TO:

Diamond Excavating LLC

SUBJECT:

Bid Tabulation

Hill 23 Drive Widening Project GCRC No. 489-66-W50834

Enclosed, for your information, please find the "Itemized Bid" for the project referenced above that was bid upon by your company on June 5, 2023.

Sincerely,

GENESEE COUNTY ROAD COMMISSION

Richard Hill, P.E.

Design Department Manager

Enclosure

cc:

Kevin Cook – Wade Trim

Tonya Ketzler - Mundy Township

EJ

AP

RH

GG

TK

File

Bid Comparison

66-W50834 **Contract ID: Description:** Lane widening

Location:

Hill 23 Drive Widening Mundy Township

Projects(s):

66-W50834

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$166,747.00	-31.23%	0.00%
1	(_201) Diamond Excavating	\$242,505.00	0.00%	45.43%

Line Pay Item Code Description	Quantity	Units	(0) ENGINEER'S E	STIMATE Total	(1) Diamond Excava Bid Price	ting Total	Bid Price	Total
0001 2030011 Dr Structure, Rem	1	Ea	\$420.00	\$420.00	\$1,500.00	\$1,500.00		\$0.00
0002 2030015 Sewer, Rem, Less than 24 inch	12	Ft	\$18.00	\$216.00	\$125.00	\$1,500.00		\$0.00
0003 2040020 Curb and Gutter, Rem	361	Ft	\$22.00	\$7,942.00	\$21.00	\$7,581.00		\$0.00
0004 2047011 _ Pavt, Rem, Modified	351	Syd	\$40.00	\$14,040.00	\$23.00	\$8,073.00		\$0.00
0005 2050010 Embankment, CIP	40	Cyd	\$20.00	\$800.00	\$45.00	\$1,800.00		\$0.00

Contract # 66-W50834 (Hill 23 Drive Widening Mundy Township) MERL: 2022.11.0

	y Item Code	Quantity	Units	(0) ENGINEER'S I	ESTIMATE	(1) Diamond Excav	•		
Description	on			Bid Price	Total	Bid Price	Total	Bid Price	Total
0006 20		450	Cyd	\$15.00	\$6,750.00	\$24.00	\$10,800.00		\$0.00
Excavatio									
0007 20		50	Cyd	\$30.00	\$1,500.00	\$95.00	\$4,750.00		\$0.00
_ Subgrad	de Undercutting, Type II, Mo	odified							
	80020	5	Ea	\$150.00	\$750.00	\$100.00	\$500.00		\$0.00
Erosion C	Control, Inlet Protection, Fab	oric Drop							
0009 20	80036	463	Ft	\$3.00	\$1,389.00	\$4.00	\$1,852.00		\$0.00
Erosion C	Control, Silt Fence								
0010 30	27011	525	Syd	\$30.00	\$15,750.00	\$36.00	\$18,900.00		\$0.00
_ Aggrega	ate Base, 15 inch, Modified								
0011 30	27011	150	Syd	\$12.00	\$1,800.00	\$36.00	\$5,400.00		\$0.00
_ Aggrega	ate Base, 4 inch, Modified								
0012 30	67031	100	Ton	\$30.00	\$3,000.00	\$30.00	\$3,000.00		\$0.00
_ Mainten	nace Gravel, Modified								
0013 40	20033	23	Ft	\$98.00	\$2,254.00	\$125.00	\$2,875.00		\$0.00
Sewer, Cl	I A, 12 inch, Tr Det B								
0014 40	30005	1	Ea	\$775.00	\$775.00	\$2,750.00	\$2,750.00		\$0.00
Dr Structu	ure Cover, Adj, Case 1								
0015 40	30010	1	Ea	\$550.00	\$550.00	\$880.00	\$880.00		\$0.00
Dr Structu	ure Cover, Type B								
0016 40	30050	2	Ea	\$750.00	\$1,500.00	\$880.00	\$1,760.00		\$0.00
Dr Structu	ure Cover, Type K								
0017 40	30200	1	Ea	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00		\$0.00
Dr Structu	ure, 24 inch dia								
0018 40	30210	1	Ea	\$3,700.00	\$3,700.00	\$4,650.00	\$4,650.00		\$0.00
Dr Structu	ure, 48 inch dia								
0019 40	30312	1	Ea	\$800.00	\$800.00	\$895.00	\$895.00		\$0.00
Dr Structu	ure, Tap, 12 inch								
0020 50	10002	1,565	Syd	\$3.00	\$4,695.00	\$10.00	\$15,650.00		\$0.00
Cold Millir	ng HMA Surface								
0021 50	12013	95	Ton	\$150.00	\$14,250.00	\$192.50	\$18,287.50		\$0.00
HMA, 3EM	ML								

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S E	STIMATE	(1) Diamond Excav	ating		
Description	~y		Bid Price	Total	Bid Price	Total	Bid Price	Total
0022 5012025	245	Ton	\$100.00	\$24,500.00	\$150.00	\$36,750.00		\$0.00
HMA, 4EML								
0023 8010007	91	Syd	\$100.00	\$9,100.00	\$105.00	\$9,555.00		\$0.00
Driveway, Nonreinf Conc, 8 inch								
0024 8020038	369	Ft	\$32.00	\$11,808.00	\$31.00	\$11,439.00		\$0.00
Curb and Gutter, Conc, Det F4								
0025 8020050	119	Ft	\$100.00	\$11,900.00	\$28.50	\$3,391.50		\$0.00
Driveway Opening, Conc, Det M								
0026 8100371	68	Ft	\$9.00	\$612.00	\$8.00	\$544.00		\$0.00
Post, Steel, 3 pound								
0027 8100402	1	Ea	\$65.00	\$65.00	\$75.00	\$75.00		\$0.00
Sign, Type III, Erect, Salv								
0028 8100405	15	Sft	\$20.00	\$300.00	\$25.00	\$375.00		\$0.00
Sign, Type IIIB								
0029 8102003	1	Ea	\$75.00	\$75.00	\$50.00	\$50.00		\$0.00
Sign, Type III, Rem, Salv								
0030 8110045	44	Ft	\$20.00	\$880.00	\$15.00	\$660.00		\$0.00
Pavt Mrkg, Ovly Cold Plastic, 24 inch	n, Stop Bar							
0031 8110063	4	Ea	\$200.00	\$800.00	\$205.00	\$820.00		\$0.00
Pavt Mrkg, Ovly Cold Plastic, Lt Turn	Arrow Sym							
0032 8110077	2	Ea	\$220.00	\$440.00	\$225.00	\$450.00		\$0.00
Pavt Mrkg, Ovly Cold Plastic, Thru ar	nd Rt Turn A	rrow						
Sym	400		f0.20	¢54.00	ФО О Б	¢474.00		
0033 8110231 Pavt Mrkg, Waterborne, 4 inch, White	180	Ft	\$0.30	\$54.00	\$0.95	\$171.00		\$0.00
			фо 20	ΦΕ44 FO	ФО ОБ	#4 74 4 7F		ድር ዕር
0034 8110232 Pavt Mrkg, Waterborne, 4 inch, Yellov	1,805	Ft	\$0.30	\$541.50	\$0.95	\$1,714.75		\$0.00
			Φ0.00	A54.00	40.05	0447.00		40.00
0035 8110251 Payt Mrkg, Waterborne, 2nd Applicat	180	Ft Mhito	\$0.30	\$54.00	\$0.65	\$117.00		\$0.00
Pavt Mrkg, Waterborne, 2nd Applicat			40.00	4544.50	Φ0.05	64.470.05		40.00
0036 8110252	1,805	Ft ⁄allaw	\$0.30	\$541.50	\$0.65	\$1,173.25		\$0.00
Pavt Mrkg, Waterborne, 2nd Applicat	ion, 4 mcn, 1	ellow						

Line Pay Item Code	Quantity Units	(0) ENGINEER'S	ESTIMATE	(1) Diamond Excava	ating		
Description		Bid Price	Total	Bid Price	Total	Bid Price	Total
0037 8110570	40 Ft	\$1.00	\$40.00	\$5.00	\$200.00		\$0.00
Pavt Mrkg, Sprayable Thermopl, 6 in	nch, Dotted Thru						
Guide Line, White 0038 8120012	8 Ea	\$200.00	\$1,600.00	\$90.00	\$720.00		\$0.00
Barricade, Type III, High Intensity, D		•	\$1,000.00	φ90.00	\$720.00		ψ0.00
Furn	ouble Glada, Ligition		l.		l		l
0039 8120013	8 Ea	\$200.00	\$1,600.00	\$1.00	\$8.00		\$0.00
Barricade, Type III, High Intensity, D Oper	ouble Sided, Lighted	l,					
0040 8120035	25 Ea	\$30.00	\$750.00	\$23.00	\$575.00		\$0.00
Channelizing Device, 42 inch, Fluore		, , , , , , ,	,	,	,		,
0041 8120036	25 Ea	\$5.00	\$125.00	\$1.00	\$25.00		\$0.00
Channelizing Device, 42 inch, Fluore	escent, Oper		·				·
0042 8120170	1 LSUM	\$5,000.00	\$5,000.00	\$12,000.00	\$12,000.00		\$0.00
Minor Traf Devices							
0043 8120245	350 Ft	\$1.65	\$577.50	\$2.50	\$875.00		\$0.00
Pavt Mrkg, Wet Reflective, Type R,	Tape, 4 inch, White,						
Temp 0044 8120246	350 Ft	\$1.65	\$577.50	\$2.50	\$875.00		\$0.00
Pavt Mrkg, Wet Reflective, Type R,		φ1.05	\$577.50	φ2.50	φο/ 5.00		\$0.00
Temp	Tape, 4 IIIcii, Tellow,		l.				
0045 8120350	209 Sft	\$10.00	\$2,090.00	\$5.00	\$1,045.00		\$0.00
Sign, Type B, Temp, Prismatic, Furn	l						
0046 8120351	209 Sft	\$5.00	\$1,045.00	\$1.00	\$209.00		\$0.00
Sign, Type B, Temp, Prismatic, Oper	r						
0047 8120352	12 Sft	\$15.00	\$180.00	\$6.00	\$72.00		\$0.00
Sign, Type B, Temp, Prismatic, Spec	c, Furn						
0048 8120353	12 Sft	\$5.00	\$60.00	\$1.00	\$12.00		\$0.00
Sign, Type B, Temp, Prismatic, Spec	c, Oper						
0049 8120370	1 LSUM	\$5,000.00	\$5,000.00	\$38,000.00	\$38,000.00		\$0.00
Traf Regulator Control							
0050 8162001	350 Syd	\$3.00	\$1,050.00	\$12.00	\$4,200.00		\$0.00
Slope Restoration, Non-Freeway, Ty	/ре А						
Bid Totals:			\$166,747.00		\$242,505.00		